RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving 2007 Budget Modification/Amendment #1 for Coldfields Community, correcting line item & utilizing 2005 carryover monies)

					RESOLU	TION NO	. <u>07-283</u>		
1	WHEREAS,	at a regular sched	aled meeting	of the Baboquivari I	District Council,	held on	January		
2		6, 2007, of which a	quorum was p	present; and					
3	WHEREAS,	the Coldfields	Community	Representatives	presented a	2007	budget		
· 4		modification/ame	ndment #1, to	correct current lin	ie item 819.32 an	ıd to util	lize 2005		
5		carryover monies in the amount of \$67,134.11; and							
6	WHEREAS,	the modification i	s to correct th	e following line iten	n:				
7		CURRENT LINE ITER	<u>M LINE</u>		ITEM CHANGE				
8		819.32-Professiona	l Services		810.32-Professional Services; and				
9	WHEREAS,	HEREAS, the amendment will increase the following line items:							
10		LINE ITEM	<u>cu</u>	RRENT AMT.	<u>AMT. +/-</u>	REVISE	ED AMT.		
11		727.32-Building Ma	terials	\$15,000.00	+\$ 30,000.00	\$45	,000.00		
12		810.32-Professiona	l Services	\$ 10,000.00	+\$ 30,000.00	\$ 40	,000.00		
13		865.32-Emergency	Asst.	\$ 1,000.00	+\$ 7,134.11	\$8,	134.11		
14		for a total amoun	nt of \$67,134.	11, increasing Col	dfields 2007 ori	iginal b	adget of		
15		\$109,469.09 to \$17	6,603.20; and						
16	WHEREAS,	after review, the	Baboquivari	District Council h	as approved Co	oldfields	budget		
17		modification/ame	ndment #1, co	orrecting line item	819.32-Professi	onal Se	rvices to		
18		810.32-Profession	al Services and	l increasing their or	iginal 2007 budg	etof\$10	9,469.09		
19		by utilizing 2005 c	arryover mor	ies in the amount	of \$67,134.11, fa	or a tota	l budget		
20		amount of \$176,60	3.20; and						
21	WHEREAS,	this modification/	amendment#	1 will deplete Coldf	ields 2005 carryo	over mo	nies.		
22	NOW, THEF	REFORE, BE IT RESC	LVED that the	Tohono O'odham I	Legislative Coun	cil appr	oves the		
23		Coldfields budge	t modificatio	n/amendment #1,	correcting lin	e item	819.32-		
24		Professional Servi	ces to 810.32-	Professional Servic	ces and utilizing	; 2005 ca	arryover		
25		monies in the amo	ant of \$67,134.	11, amending the ab	ove mentioned l	ineitem	s, which		
26		increases their ori	ginal 2007 bu	dget of \$109,469.09	to \$176,603.20.				
27	BE IT FINAI	LY RESOLVED that	any changes i	n the justifications,	additions and/o	or the tra	insfer of		
28		funds between line	e items are to	be reviewed and ap	proved by the B	udget &	Finance		
29		Committee and th	e Tohono O'od	ham Legislative Co	uncil.				
1	1						I		

RESOLUTION NO. 07-283 (Approving 2007 Budget Modification/Amendment #1 for Coldfields Community, correcting line item & utilizing 2005 carryover monies) Page 2 of 3 The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 11TH. Day of MAY, 2007 at a meeting at which a quorum was present with a vote of 1,908.5 FOR;-0- AGAINST; -0- NOT VOTING; and 532.3[10] ABSENT, pursuant to the powers vested in the Council by Section 1 (d)(2)&(3) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary -Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984). **TOHONO O'ODHAM LEGISLATIVE COUNCIL** Verlon M. Jose, Legislative Chairman <u>31 day of Mary</u>, 2007 ATTEST: Jun Jr Lucille Lopez, Acting Legislative Secretary <u>||</u> day of <u>Muy</u>, 2007. Said Resolution was submitted for approval to the office of the Chairwoman of the Tohono O'Odham Nation on the <u>31</u> day of <u>May</u>, 2007 at <u>11:4(</u> o'clock, <u>A</u>.M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective upon her approval or upon her failure to either approve or disapprove it within 48 hours of submittal. TOHONO O'ODHAM LEGISLATIVE COUNCIL Verlor M. Jose, Legislative Chairman _________, 2007 APPROVED on the 2!at 2 o'clock, **] DISAPPROVED VIVIAN JUAN-SAUNDERS, CHAIRWOMAN** TOHONO O'ODHĂM NATION

		X /		
Returned to the	Legislative Secretary (on the <u></u>	day of	
May	, 2007, at <u>3:43</u>	o'clock,	<u>//</u> .M.	
Juin S	cpy			
Lucille Lopez, Ac	ting Legislative Secret	tary		

ACTION: APPROVING 2007 BUDGET MODIFICATION/AMENDMENT #1 FOR COLDFIELDS COMMUNITY, CORRECTING LINE ITEM & UTILIZING 2005 CARRYOVER MONIES

MOVED: COUNCILWOMAN FRANCES MIGUEL

SECOND: COUNCILWOMAN FRANCES G. ANTONE

DATE: MAY 11, 2007

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 310.8	 FRANCES MIGUEL (Vernon J. Smith) FRANCES G. ANTONE 	155.40	x			
	(Lucilda J. Valenzuela (Norris))	155.40				ļ
CHUKUT KUK 258.7	1. ETHEL GARCIA	129.35	x			
	2. VERLON M. JOSE (David Garcia)	129.35	X			X
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles)	110.80	x			
221.6	2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80	x			
GU VO	1. RAYMOND VICTOR	96.55				x
193.1	() 2. MICHAEL FLORES (Grace Manuel)	96.55				x
HICKIWAN	1. SHIRLEY SANTOS-MOLINA	83.70				x
167.4	2. SANDRA ORTEGA	83.70				x
PISINEMO	1. BARBARA SALVICIO	85.90				x
171.8	2. GERALD FAYUANT	85.90				x
SAN LUCY	1. LORRAINE EILER	84.50	x			
169.0	2. GLORIA RAMIREZ	84.50	x			x
SAN XAVIER	1. FELICIA NUÑEZ	96.90	x			
193.8	() 2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90	x			
SCHUK TOAK	1. FRANCES B. CONDE	73.45	x			
146.9	2. PHYLLIS JUAN	73.45	x			
SELLS	1. MARLENE SARAFICIO-JUAN	210.50	x			x
421.0	() 2.EVELYN B. JUAN MANUEL (Kimberly Listo)	210.50	x			
SIF OIDAK	1. WAVALENE ROMERO	93.35	x			x
186.7	(Isidro Lopez) 2. DARLENE ANDREW (Rita Wilson)	93.35	x			
	TOTAL	2,440.80	1,908.5	-0-	-0-	532.3 [10]